Remediation Name

Unit 2 Objective 2 Section

Identify the x-intercept and y-intercept given a graph.

To find the x-intercept from a graph, locate the x axis that runs from the left to the right on the
graph. Find where the line intersects this axis. The point will be (a, 0). In the graph below, the
x-intercepts is (3, 0).

To find the y-intercept from a graph, locate the y-axis that runs from north to south on the
graph. Find where the line intersects this axis. The point will be (0, b). In the graph below, the
y-intercept is (0, 6).
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Find the X and Y-Intercept(s):
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